Aqm:s AquaJogg

THE LEADERS IN RECREATION, FITNESS, and ABILITY!

PART #: F-WXAQJG
330 LB. [150 kg] MAXIMUM WEIGHT CAPACITY

MANDATORY - LEAVE THIS MANUAL
WITH TREADMILL OWNER

« To assemble your equipment read entire manual and follow all instructions.

« Consult your doctor before beginning any sports or exercise program. Patients with
hypertension use extreme caution and consult your doctor prior to using this equipment.

« It is important to stretch and warm up prior to using this equipment.

« Check contents of all packages against the parts diagrams and report any damaged and/or
missing parts immediately.

« This device is designed for individual, adult use only. Children using this device should be
supervised.

« This product is to be used in a pool environment where the pH level of the water is maintained
between 6.7ppm and 7.6ppm.

9889 Garrymore Ln
Missoula, MT 59808 SAVE a copy of these instructions
888-687-3552 | +1-406-549-0769

aquacreek.com 1

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Aqualogg Hydro Treadmill

PAGE DESCRIPTION

3 EXPLODED VIEW
3 TOOLS
4 PARTS LIST
5-6 OPERATING INSTRUCTIONS
6 USING THE TREADMILL
7 MAINTENANCE
8 WARRANTY

2

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Exploded View

Tools

« Note: The use of these tools is reserved for the assembly of the treadmill

« Warning: Keep tools out of reach of children

4 "'. \ .
' [

- / «
e (814

NV

S13

3

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Parts List

FOLDING LEVEL

FOLDING SPRING

SELF TAPPING SCREW M4x15

ITEM= | QTY DESCRIPTION
1 1 RUNNING BELT
2 1 RUNNING BOARD
3 8 SCREW M6x40
4 12 FLAT WASHER M6 6.2*13*T1.0
5 M6 LOCK NUT
6 MAIN FRAME
7 ROLLER
8 PLASTIC WASHER @16*@30*T1.5
9 TUBE PLUG @ 32
10 SCREW M6x25
11 SCREW M6x60
12 SCREW M6x15
13
14
15
16
17
18
19

QAR |HRIN|=|IN|=|B|IN|=m|=|=m== = NINININ[RIN|=|0

LOCK NUT M4
HANDLE BAR
BOTTOM FRAME WELDING
BOLT M10
20 FLAT WASHER M10
21 RIGHT NYLOCK COVER @36*@10.5*T25
22 LOCK NUT M10
23 LEFT NYLON COVER @36*@10.5*T30
24 SCREW M6x10
25 FOOT
26 OUTER NUT M8
27 NUT M8
28 SCREW
29 12 M8 WASHER 8.2*17*T1.5
30 6 LOCK NUT M8
31 4 INNER HEXAGON SCREW M6x20
32 6 WHEEL

Copyright © 2016 Aqua Creek Products All Rights Reserved

4

Revised 8/30/2016



Operating Instructions

Open the box and take out the treadmill. Lay the treadmill flat on the ground.
Make sure all the screws are tightened then put the treadmill in the pool for
use.

Opening Treadmill:

1. Put the treadmill into the pool -\
using the wheels to assist the A
transfer.

2. Push down on the top of NN Y
the folding lever to unlock the N
treadmill. It is recommended to
open the treadmill directly in
water in order to avoid being
crushed by the weight of the
device.

Folding Lever

Changing Resistance:

To increase the resistance
of the treadmill, tighten the
bolt (see picture) with the
supplied allen key.

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Closing Treadmill:

Still in the pool, push on the top o

of the folding lever while raising X\

the treadmill with your foot. Push \‘\ |

the treadmill to the handle bar \) A\

until you hear the click, meaning P ‘*\,

it is securely locked. AR

T )

i = - ’ ~ Al

Using the Treadmill

Consult with a physician before starting any exercise regimen

Warm Up Phase:

The warm up phase is important because it helps your blood flow and will
reduce the risk of cramps and muscle injury. Itis advisable to stretch during
this phase. Do not force your muscles. If you feel pain, stop exercising
immediately.

Cool Down Phase:

The cool down phase helps your cardiovascular system and muscles
relax. Repeat the movements performed during the warm up without
traumatizing your muscles. Be sure to reduce speed and resistance during
this phase. Once you have gained experience, increase the duration and
intensity of your regular workout.

6

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Treadmill Maintenance

The AquaJogg is made of marine quality AlSI 316L stainless steel. Its anti-
corrosion treatment makes it suitable for chlorinated water, seawater and
thermal waters. It does not require any special care in pH-controlled water (6.7 /
7.6).

1. Remove the treadmill once a week and rinse it thoroughly with soft water,
not pool water.

2. Regularly check the pH of your swimming pool.

3. Remove the treadmill during manual dosages of chemical products or
chlorine stock treatments. Keep the treadmill away from chemicals to avoid
any splashing which can stain or cause deposits.

4. Deposits of powder, salt, and other corrosive products will speed up the
corrsion process.

5. When cleaning the surfaces of the swimming pool it is advised to remove
the treadmill from the pool in order to avoid any risk of stains or deposits.

6. When you are not using the treadmill, it must be rinsed thoroughly with
soft water, then dried and stored in a location away from chemical products.

7. If there are lime-scale deposits or stains, they can be removed with a
polishing cleaner for stainless steel and a non-abrasive soft cloth. Then wash
the treadmill with clean water and dry it completely.

7

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



Revised: 8/26/2016

AQUA CREEK PRODUCTS, LLC LIMITED TWO (2) YEAR WARRANTY:
WATER RIDER AQUATIC EXERCISE EQUIPMENT
(ITEM #'s F-WXF, F-WX4S, F-WX5, F-WXEL, F-WXAQJG)

Aqua Creek Products, LLC (a.k.a. Aqua Creek) warrants to the original end user purchaser that products manufactured by Aqua Creek
when properly installed in accordance with assembly and installation instructions, and properly used and maintained, shall be free from
defects in material and workmanship for a period of two (2) years from the date of original purchase, provided that Aqua Creek receives
prompt notice in writing of any defect or failure and satisfactory proof thereof, with the following exception(s):

Exception(s):
«  All non-frame components, i.e. plastic feet, etc... shall be warrantied for six (6) months from the date of original purchase.

IMPORTANT: User is not to exceed the rated weight capacity of this product. It is the responsibility of the product owner to verify the
weight of the patron for warranty claim purposes and to ensure that the product is not overloaded.

This warranty specifically excludes reimbursement for labor to remove, repair, or install the product and any freight charges. These
warranties do not cover any damages due to accident, misuse, abuse, negligence or failure to properly maintain any products, or normal
wear and tear from day to day operations. In the event that any products are altered, repaired, or improperly installed or improperly used
by anyone without the prior written approval by Aqua Creek, all warranties are void. Non-payment for product to Aqua Creek may void
warranty.

To initiate a warranty claim, the owner of an Aqua Creek product must provide the place of purchase, in writing, with a full description
of the product, its serial number, the dates of purchase and installation, and the exact nature of the defect. Within thirty (30) days after
receipt of a written warranty claim by Aqua Creek, and barring any unforeseen delays, the place of purchase will be notified of Aqua
Creek’s decision regarding the claim.

If requested by Aqua Creek, any defective product must be returned, freight prepaid by customer, to Aqua Creek’s designated factory
location or duly appointed distributor for inspection and/or repair. Aqua Creek will, at its option, repair or replace the failed or defective
item, and deliver the repaired product or replacement to the customer. All freight charges are the responsibility of the customer.
Products returned to Aqua Creek for which Aqua Creek provides replacement under this limited warranty shall become the property of
Aqua Creek. A new warranty period shall NOT be established for the repaired or replaced products. Such products shall remain under
warranty only for the remainder of the original warranty period on the original products purchased.

This written limited warranty constitutes the final, complete and exclusive statement of warranty terms. No person or organization is
authorized to make any other specific or implied warranties or representations on behalf of Aqua Creek.

THE WARRANTIES SET FORTH HEREIN ARE IN LIEU OF ALL OTHER WARRANTIES, EXPRESSED OR IMPLIED, WHICH ARE HEREBY DISCLAIMED
AND EXCLUDED, INCLUDING WITHOUT LIMITATION ANY WARRANTY OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE OR
USE.

THE SOLE AND EXCLUSIVE REMEDIES FOR BREACH OF ANY AND ALL WARRANTIES WITH RESPECT TO THE PRODUCTS SHALL BE LIMITED
TO REPAIR OR REPLACEMENT AT AQUA CREEK'’S DESIGNATED FACTORY LOCATION, OR DULY APPOINTED DISTRIBUTOR, OR IN PLACE

AT AQUA CREEK’S OPTION. IN NO EVENT SHALL AQUA CREEK’S LIABILITY EXCEED THE ENTIRE AMOUNT PAID TO AQUA CREEK BY THE
ORIGINAL PURCHASER FOR THE FAILED OR DEFECTIVE PRODUCT.

IN NO EVENT SHALL AQUA CREEK PRODUCTS, LLC BE LIABLE FOR ANY INCIDENTAL, CONSEQUENTIAL, SPECIAL, INDIRECT, PUNITIVE OR
EXEMPLARY DAMAGES OR LOST PROFITS FROM ANY BREACH OF THIS LIMITED WARRANTY OR OTHERWISE.

THIS WARRANTY GIVES YOU SPECIFIC LEGAL RIGHTS AND YOU MAY ALSO HAVE OTHER RIGHTS, WHICH MAY VARY FROM STATE TO STATE.
SOME STATES DO NOT ALLOW THE EXCLUSION OR LIMITATION OF INCIDENTAL, SPECIAL OR CONSEQUENTIAL DAMAGES, SO SOME OF
THE ABOVE LIMITATIONS OR EXCLUSIONS MAY NOT APPLY TO YOU.

Aqua Creek Products, LLC
9889 Garrymore Lane
Missoula, MT 59808
Toll Free: (888) 687-3552
Local/Intnl: (406) 549-0769
www.aquacreek.com

8

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 8/30/2016



